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Evaluate whether the following statements as true or false.  
 
1. The sum of two negative numbers can 
either be negative or zero. 
2. Zero is neither a positive integer nor a 
negative integer. 
3. All negative numbers are integers. 
4. 0 is a bigger number than -9999. 
 
 
Solve the following:  

 

 A B C 

5. -5 + (-4) -4 + (-55) -4 + (-99) 

6. -8 + (-11) + (-4) -3 + (-8) + (-9) -2 + (-4) + (-1) 

7. -3 + (-2) + (-4) + (-2) -4 + (-12) + (-8) + (-2) -4 + (-22) + (-14) + (-2) 

 
8.  
a) The temperature in city-X was -20°C in the morning which increased 
to -3°C in the afternoon. What is the temperature difference? 
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b) Metal mercury is a liquid at room temperature. Its melting point is 
 -39°C. The freezing point of alcohol is -114°C. How much warmer is the 
melting point of mercury than the freezing point of alcohol? 
 
 
9. The oval figure contains some negative integers. Choose any 3 pairs 
and carry out addition with those numbers.  
 
 
 
 
 
 
 
 
 
10. Find the value of an unknown number if its 
sum with  
i) 0 is -3 
ii) -5 is -9 
iii) -3 is -43 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

                 -9      
-8     -13     
                         -27     
      -8       -24 
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1. 
False 

6.  
A. -23 
B. -20 
C. -7 

2. 
True 

7. 
A. -11 
B. -26 
C. -42 

3. 
False 

8.  
a) The temperature increased by 17 
degree Celsius. 
 
b) The melting point of mercury is 
75 degree warmer than the freezing 
point of alcohol. 

4.  
True 

9.  
Few possible answers: 
-8 + (-9) = -17 
-8 + (-24) = -32 
-24 + (-27) = -51 

5.  
A. -9 
B. -59 
C. -103  

10.  
i) -3 
ii) -4 
iii) -40 
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1. An integer can be negative, zero or positive. 
 
2. There are infinite real numbers between any two 
integers. 
 
3. There are zero integers between any two 
integers. 
 
4. We cannot determine the smallest integer. 
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